01TY01-00A

TYO0O01-Cuspidor

o

foo 0 =




TY001-Cuspidor 01TY01-00A
No. Material No. Name Quantity | Remark
1 8016747A  |@5 Clamp 2
2 8019006A TY-1 Connecting Pin of Rotating Shaft 1
3 8018997B TY-1 Rotating Shaft 1
4 8026038A TY-1 Connecting Plate 1
5 8025894A M6 * 10 stainless steel slotted flat head screws 2
6 8020173A M5*16 Stainless Steel Socket Head SEM Screw 3
7 8019018B TY-1 Connecting Hose of Funnel 1
8 8026044A ®6.9 Copper Connector 1
9 8019591A ST2.2*10 Stainless Steel Self-tapping Philips Screw 6
10 8019393A Rubber Plug 6
11 8022600A TY-1 Cover of Assistant Arm 1
12 8010858A 3/8 inch yellow tube 1
13 8026062A TY-1 under Shell 1
14 8018229A M6*30 Stainless Steel Socket Head SEM Screw 4
15 8024361A Air Pilot Viave 2 2
16 8011032B ®4.7 Copper Connector 4
17 8026050A Hex Three-Way Valve 2
18 8012199B ®2.4 Copper Connector 4
19 8025897A M10*1 Stainless Steel Nut 2
20 8019450B MNV-3 Pin Valve 2
21 8026026A Valve body fixing plate 1
22 8003751A M4*10 Stainless Steel Countersunk Head Philips Screw 2
23 8019453A 2 Way Switch 2
24 8026065A TY-1 Upper Shell 1
25 8009280A M14*2 Nut 2
26 8022492A M14 Double Self-locking Washer 1
27 8014227A Seal Washer 15*23*3 1
28 8011032B ®4.7 Copper Connector 1
29 8013750B Water Hose Holder 1
30 8014224A ORingof ¢11.8*¢ 1.8 4
31 8013747A Water Supply Hose 1
32 8003766A ST4*16 Stainless Steel Pan Head Self-tapping Philips Screw 2
33 8011032B ®4.7Copper Connector 1
34 8008707A M4*6 Stainless Steel Socket Head Set Screw 1
35 8026083A Fixed Plate for Flush Hose 1
36 8026068A  |O Ring of 5*¢p1.5 2
37 8026029B TY-1Flush Hose 1
38 8003817A CCeramic Cuspidor Cover 1
39 8008710A Cuspidor Filter (45mm) 1
40 8000916A AJ15 Cuspidor Funnel 1
41 8009061A Cuspidor Rubber Mat 1
42 8019048A Circular Ceramic Cuspidor 1
43 8007372C Nut of AJ15 Cuspidor Funnel 1
44 8007858A ®54.5*93.55 O Ring 2
45 8019015A TY-1 Funnel 1
46 8018994E TY-1 Rotating Arm 1
vivg 8001702A M5*16 Stainless Steel Pan Head Philips Screw 4
48 8019012A TY-1 Cover of Rotating Arm 1




	01TY01-00A-TY-1痰盂爆炸图 Model (1)
	01TY01-00A-TY-1痰盂爆炸图 Model (1)

